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Figure S1. The 28th normal-mode vibration (frequency ν = 967.15 cm-1) of Me2C(OH)C≡CH 
with H3O+(H2O).        Page S2 
 
Figure S2. Geometries in the Rupe rearrangement. Reaction-coordinate vectors are shown for 
TS structures. The geometries of TS structures are shown in Figure 2 in the text. 
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Figure S3. Geometries in the Meyer-Schuster rearrangement. Reaction-coordinate vectors are 
shown for TS structures. The geometries of TS structures are shown in Figure 3 in the text. 
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Figure S4. Reaction-coordinate vectors for TS structure of Figure 5 (F5, SN TS). 
         Page S11 

 
Figure S5. Geometries in the first and the rate-determining step of the Meyer-Schuster 
rearrangement for the system of Ph2C(OH)-C≡C-H + H3O+(H2O)9. Reaction-coordinate 
vectors are shown for TS structure of F6-2 (TS1). The geometry of TS structure is shown in 
Figure 6 in the text.       Pages S12-S13 
 
Figure S6. Geometries of the reactant (F2-1) and TS1 (F2-2) of the Me2C(OH)C≡CH + 
H3O+(H2O)6 system. Important data are attached to the geometry of TS1 (F2-2) in Figure 2 by 
the underlined numbers.       Page S14 
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Figure S1. The 28th normal-mode vibration (frequency ν = 967.15 cm-1) of Me2C(OH)C≡CH 
with H3O+(H2O). 
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Figure S2. Geometries in the Rupe rearrangement. Reaction-coordinate vectors are shown for 
TS structures. The geometries of TS structures are shown in Figure 2 in the text. 
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Figure S3. Geometries in the Meyer-Schuster rearrangement. Reaction-coordinate vectors are 
shown for TS structures. The geometries of TS structures are shown in Figure 3 in the text.
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Figure S4. Reaction-coordinate vectors for TS structure F5 (SN TS). 
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Figure S5. Geometries in the first and the rate-determining step of the Meyer-Schuster 
rearrangement for the system of Ph2C(OH)-C≡C-H + H3O+(H2O)9. Reaction-coordinate 
vectors are shown for TS structure of F6-2 (TS1). The geometry of TS structure is shown in 
Figure 6 in the text. 
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Figure S6. Geometries of the reactant (F2-1) and TS1 (F2-2) of the Me2C(OH)C≡CH + 
H3O+(H2O)6 system. Important data are attached to the geometry of TS1 (F2-2) in Figure 2 by 
the underlined numbers. 
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